(IN[IES

SHS I ek 1) _
JEHEC (hy 7 £2255mm)  FRROVA Bt I L ( IR=R AW IE. S ) 1,000 m24 1
P2 " NI <= I 4 ==X va ¥ & B il & %H i) C:3 fi *
A
A 0[400
YRR EZR
A 11800
TERIEEE
A 0[400
B H
T8 H - o p-22255mm 1/800
TEMEE o
[1] ° 3
3t
1 m2 %4V




(IN[IES

B PREL (SR ) -
( 25U FE 1,000 m24 1
P2/ I - R S ==X va & B il % il fi *

TEEIEEER
A 11100
Sl e o
[1] ° 5
1 m2 %49

10 H




(IN[IES

Ny R A R A

Je=771 11750, Sm3 (SEFH0. 6m3) Ml VAE + -7 - WY L kS E - EEm L ( 9= ) 100 m324 v
4 o Bl LA B & i & H 1 2L fii %
Ny sy (HExF27R) q
Ju=781- 111 £50. 8m3 (SEFEO. 6m3) 01420
1 m3 49D

17 H



(IN[IES

Ny R A R A

V=7 BRI LIFT0. 8u3 CF-AKO. 6m3) Hupll VAE 40 - OB -t BERY  ( 10210432 ) 100 w324 ¥
4 o Bl HAfL o = B Al & HH 1 Ui fisi =5
Ny Ry (HEXF27K) .
Ju=7%4 - [11£50. 8m3 ((F-FEO0. 6m3) 01660
1 m3 4b

18 H



(IN[IES

B 7 V)

N~ 928y LAK0. 8m3 (CF-fK0. 6m3) 7> DIDME 11.5LLF EAF ( 115 AfhER ) 100 m3:4 1
C L ¥ B i & # ] £ (] =
U7 Ny BRAT H
Ave=b -7 -t - FRRE R0t Rk 31100
1 m3 349

19 H



(IN[IES

7R bse AT OMLEE (FrERENHS F 24 1 5)

( RAANIES ) 100 m3%4 v
% o B BT ¥ OB B ff & M fii Ui fi =
7 =4 (HEe 1)
15t (13716t) IR f] 0780
1 m3 H4b

20 B



(IN[IES

Ny R A R A

V=7 BRI LIFT0. 8u3 CF-AKO. 6m3) Hupll VAE 40 - OB -t BERY  ( 13 2-10{H3 ) 100 w324 ¥
4 o Bl HAfL o = B Al & HH 1 Ui fisi =5
Ny Ry (HEXF27K) .
Ju=7%4 - [11£50. 8m3 ((F-FEO0. 6m3) 01660
1 m3 4b




(IN[IES

B 7 V)

N~ 928y LAK0. 8m3 (CF-fK0. 6m3) 7> DIDME 11.5LLF EAF ( 145 AfhER ) 100 m3:4 1
C L ¥ B i & # ] £ (] =
U7 Ny BRAT H
Ave=b -7 -t - FRRE R0t Rk 31100
1 m3 349

22 H



(IN[IES

7R bse AT OMLEE (FrERENHS F 24 1 5)

( RRCANIES ) 100 m3%4 v
% o B BT ¥ OB B ff & M fii Ui fi =
7 =4 (HEe 1)
15t (13716t) IR f] 0780
1 m3 H4b

23 H



(IN[IES

RS NI ES

fitk E 50 150mm ( 16 5z ) 100 m24 v
P2 " NI <= I 4 ==X va ¥ & B il & %H i C: fi *
TR R
A 0[150
TWRIEEE
A 0[450
1 m %V

24 H



(IN[IES

UFi#E Wk
600mm 80 % #8 230081 T ( 7B 10w b
P2 " NI <= I 4 ==X 1va & B 1l %H i fird =
TR R
A 0[200
YRR EEE
A 0[200
TERIEEE
A 0[550
Ny rav=y (TEZEENE) (BHIEISIH D) 40
4.9t A V-RfE AR = 0]100

2}

1 m %Y

25 H




(IN[IES

oK s )
W 400% 828000, T 4E fmuE ( 185 flhz= 10 34 9
P2 " NI <= I 4 ==X 1va & B 1l %H i fird =
AR R
A 0[200
YRR EEE
A 0[050
TERIEEE
A 0[300
N9 (B L) - Leos

Ju=741 - [11F50. 45m3 (EFH0. 35m3) 7V—22. 9t

it

13 %49

26 H




(IN[IES

HF KBLI AL %

( 195 flmz=
P2/ I - R S ==X va ¥ & B it
VIVE AV R E *
B 1004 K] 1
1R %Y

27T B



SHESRRANR: Ay 2 ) LR - FEA fhﬁﬁi%

t=10cm ( 225 XAl ) 100 m234 v
P2 " NI <= I 4 ==X va ¥ & B il & %H i C2 fi *
A
A 0[120
TEIEEER
A 0[250
Ny Ry (R A
Ny b g LA, 45 CEF%0. 35) m3 0[120

it

1 m2 %49

30 H



(IN[IES

Ny RO AR IR A

-5 LFO. 8m3 CEAKO. 6m3) h—2" VIR LW L -REL 24 BT ) 100 m3%
ZZ O BT ¥ & B & 1 W i %
Ny iy (HERF2IR) q
yn=37 - 11550, 8m3 CEAH0. 6m3) 0400
1 m3 4b

32 H



(IN[IES

B 7 V)

N~ 928y LAK0. 8m3 (CF-fK0. 6m3) 7> DIDME 11.5LLF EAF ( 25 5N I 3 ) 100 m3:4 1
C L ¥ B i & # ] £ (] =
U7 Ny BRAT H
Ave=b -7 -t - FRRE R0t Rk 31100
1 m3 349

33 H



(IN[IES

7R bse AT OMLEE (FrERENHS F 24 1 5)

( ENES ) 100 m3%4 v
% o B BT ¥ OB B ff & M fii Ui fi =
7 =4 (HEe 1)
15t (13716t) IR f] 0780
1 m3 H4b

34 H



LT 20ab L AR

( 335 AR ) 10, 000 m224
% o B BT ¥ OB B ff & fii Ui i £
(EZiFcea A
BRI Y e L 11600
TERR T (Fpik) i -
2R R
[ /n-57%1- 67 88kWH% (90 120Ps) R 35(200
[ A 2N
L 5 B i 5 IR 1] 35200
#EJh L
N =)= N -l 2T AKLRE 474

it

1 m2 %49




(IN[IES

Ny RO AR IR A

-5 LFO. 8m3 CEAKO. 6m3) h—2" VIR LW L -REL 342 Al ) 100 m3%
ZZ O BT ¥ & B & 1 W i %
Ny iy (HERF2IR) q
yn=37 - 11550, 8m3 CEAH0. 6m3) 0400
1 m3 4b

42 H



(IN[IES

B Ny iERE (N D E)
. 8m

Ny JR)IAHO. 8m3 CEAH0. 6m3) /) DIDME 22. 5LLF RAT ( RYE=R AV B ) 143 £92 1
C S HiAT o & Bl & # ] £ (] =
U7 Ny BRAT H
Ave=b -7 -t - FRRE R0t Rk 41700
1 4% 40

45 H



BET T AF w7 (v=be7vavELIAN)  ERE 1Jﬂﬂﬁ%
4487 (8 m32/77F) ( 38 5L F=

e

HoWmo B HLAL % B Al

BET T AF v 7% ERE wmETTN

46 H



BET T AF w7 (v-h-TvaviE)  ERE

(IN[IES

4487 (8 m32/77F) ( 395U+ )
A N S - AT iy Bl #H ] fi =
BT TAF v (v-bva4H) Atk ERRE S0KmLAT il
1

47 H




Ny JE)Co - AsitefEIA

(IN[IES

Ju=784 | 1F5O. 8m3 (SEFE0. 6m3) ( 4050 EE 10 3% ¥
P2 " NI <= I 4 ==X va & B 1l %H il fi *
Ny IRy (HEXF1ER)
H 0]050

yu=770 . [11F50. 8m3 ((EAEO. 6m3)

5}

1 m3 %4b

48 H




(IN[IES

8077 8y (L0tFERR) 1M (Coi%)

Ny (A0 8m3 (CFFK0. 6m3) M2/ ) -1 DIDME 15. 5LAF RAF ( 41 5 F ) 100 m3:4 1
C N HEAL o= B i & ] £ (i =
7 by BAT H
Ave=b -7 4= v FEHE R L0t R 41940
1 m3 %Y

49 H



577" £ (10t) i

(NIES

N8O, 45m3 (CF-fK0. 35m3) As3f DIDHE 19. 5L T RAf ( 42 5 Af 2 ) 100 m334 ¥
4o B HAAL it Bl & i (] 5

VAR VI AN=Y <8 a

Ayn=h 7 v R R 10t 6110

A

1 m3 49

50 H




(IN[IES

TIh = E L (-2

15k FRHE ( 435 U= ) 100 m334 1
P2/ I - R S ==X va ¥ & B il & %H il C2 fi *
7T b = (FERELTR) H
W@ 15t#% (137 16t) 0|160
TEIEEER
A 0[250
1 m3 %49




BES T AF w7 (v=h-7vasaLIAh)

oy #e

(IN[IES

445 UM

Im3¥4 Y

ZI O

HLAL

(

e

Nz

il

e

BT AF w7 (v-hTvasggEaLsd)

oy #

m3

5}

1 m3 %4b

52 H




(IN[IES

455z

Im3¥4 Y

ZI O

HLAL

(

e

Nz

il

e

BET T AT w7 (U=h-TvaviE) Ay ER

m3

5}

1 m3 %49

53 H




a7V — M (R A

(IN[IES

(

465z

1 t%40

ZI O

HLAL

e

Nz

il

e

ISy (S)

avy) =ML MEf (50 X 50 X 50emELPNY) (Rl FREEIRAL) MR E=R0. 23 1 Sv/h

5}

1t 4P

54 H




T AT 7L Nk Ay E

(IN[IES

(

475 FE

1 t%40

ZI O

HLAL

e

Nz

il

e

FRfEAL S (S)
TA77 VB (R PR L) AR =80, 23 1 Sv/h

5}

1t 4P

55 H




